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(1) boolean b = (![ (1) |) == true;
(2) boolean b = false ||| (2) |;
(3) boolean b = (false == ) && false;
(4) boolean b = (false && | (4) |) || false;
(5) boolean b = (true ? false : true) ==| (5) |;
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(4) switch X[EHgDRUXD1DTT
(5) for XIFFIHIEIL—TTT
(6) for XORUHAZEBIDIEIV/NAIVIS—ICIZDFET
(7) do while X[FEHIFEIN—TTY
(8) HBHTIL—TEIMT 1 EIFiER UNBIHETINET
(9) continue XZEAN\DERTPDIBHRUNNDSIRITDICENTEFXT
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15: }while(num%2==1);

16: System.out.println(num);
17: }

18: }
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int[] aryl1={1,2,3};
1nt[][] al"y2={{9:1}:{2},{3,4, 5}};
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System.
System.
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out.
out.
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out
out.
out.
out.

print(aryl[e]);
print(aryl[aryl[1]]);
print(aryl[aryl.length-1]);
print(ary2[0][1]);

.print(ary2[1][@]);

print(ary2[2][1]);
print(ary2[1].length);
print(ary2[2].length);

System.out.print(ary2[ary2.length-1][ary2[ary2.length-1].1length-1]);
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01: public class Final@7{
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01: import java.io.*;
02: public class Final@5{

03:
04:
05:
06:
07:
08:
09:
10:
11:
12:
13:
14:

public static void main(String[] args) throws IOException{
BufferedReader br;
br=new BufferedReader(new InputStreamReader(System.in));
int num=@, cnt=0;
do {
cnt++;
if(cnt==3){
num=2;
break;
}
System.out.println("{BHEAND LTI ZE0\");

num=Integer.parselnt(br.readlLine());

02: public static void main(String[] args){

03: int[] data={3,1,2,1,1,3,4,1,2,4,3,4,1,3,4,1};
04: int[] stat;

05: stat = int[4];

06: for(int d: data )

07: stat[ 1++;

08: for(int i=0; i stat.length; i++){
09: System.out.print("EBIRE"+(i+1));

10: for(int j=0;j<stat][ 1;3++)

11: System.out.print("*");

12: System.out.println();

13: }

14: }

15: }
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